™I eR=T ( GUs Ag®)
( femr .- fau3 fefarns)

o~

AHT-2 ure H'S® YH& U39 wd: 40
3T :1. H'd YHS U3d I8 Jdb wgdl I5 |

2 YA U39 © 3 a1 dear €0 miz e w3 fegst f3st gar ff9 3% 25 YAs 941

3. yns &: 13 15 39 fea-fea #a € 91 fea yrs U39 gg-feasit/angfans I rae 751
4 FI- M TSI TS 5 YIS 16 3 20 3 I&dT| I YAS 2 W €7 J<ar|

5 a1 -E R a8 5 Y& 21 3 25 IS I&JT1 I3 YAS 3 M &7 J=aT|

(3ar-€)

UAs 1. Agfeg 9as 3 at = 97
YA 2. Wa & AeTet gyt fag” mget 97
s 3. &1 ot 97
UA&4. JURS ot I?
YRS 5. JaT &t 7
UHE 6.2 ¢ 3l I 7

(©) TFt T geaT () T3 = fumaeT (8) 931 @ 937 (7) T35t T g9
UAE 7. WaT WTAS 996 &El fas e faasT adt Ag<3av Jer 37

£

(©) AT () gufge () A (M T3
A 8. muaTsT faus feerfis €t we % ger 37

(Cokci (o) St (®) At (m) St
RS 9. uBdr fan diw 3 e&<t 97

8 g3 () fa st () TFdT (H) HeHS
YHS 10. 5o ©f dnat 3 fagar feefis fiuger 37

(Cokci () Ft (¥) gt (7)) St

YRS  11. HAdeSl (HAEdT) Ja1 fam feefie & we s Jer

(feeis-rt/feefis-3T)
UHS 12. HEdT 3 8% T8 YHY 3T f[qaa™ J7 (HBdT/Sean)
UHs 13. 3 fa= Bt I JeHt 7% /Adet 57%)
UHE 14 . BT WAS 9793t ana3 & fagst fedt 37 (uaret/ &<t
UAS 15. HI™ Wi &78 fan & 391 B9 957 (fAae/ fes)

(ITar-1)
UHS 16 WT &7 W BT-g BT fad fAgT =T ggter 3°
YRS 17. A ot 97
UAS 18. ITHIGTT 979 &t ATEE I7?
YRS 19. fipy<t gyt ot I°
YRS 20. HeEs! AgrfeaT at J7?

(Tar- ¥)
YRS 21. T8 I3 @ des o fewH By |
UAS 22. Gar argst ¥ U3 f3y |
YRS 23. Hyt 3 g9< € Qum fad|
YRS 24. A3fe3 975 € HY o f&d|

UAS 25. Heo 979 At ot Aree 37

ap

15x1=15

05x2=10

05x3=15



